7-2 Solving Systems Using Substitution (Part 2)
I can solve systems of linear equations using substitution

	Solve using substitution. 

3x + y = 10
Y = -3x + 4
Would the graph of the S.O.E. be 
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	Solve using substitution. 

x + y = -4

y =-x + -4 
Would the graph of the S.O.E. be 
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	Solve using substitution. 

4x + 2y = 8 
y = -2x + 4 

Would the graph of the S.O.E. be 

SAME     INTERSECTING   PARALLEL
	Solve using substitution. 

3x – y  = 4
y = -2x + 16
Would the graph of the S.O.E. be 
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	Solve using substitution. 

2x + 5y = -6

 y = -4x - 12

Would the graph of the S.O.E. be 
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	Solve using substitution. 

3x – 4y = -5

x = y + 2
Would the graph of the S.O.E. be 
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	Solve using substitution. 

5x + 6 y = -76
x =-2y  - 44

Would the graph of the S.O.E. be 
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	Solve using substitution. 

y = 5x +  6

2x – 3y = 60
Would the graph of the S.O.E. be 
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	Solve using substitution. 

5x + 2y= 6
Y= -5/2x + 1

Would the graph of the S.O.E. be 
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	Solve using substitution. 

6x - 3y= 6
y= 2x + 5
Would the graph of the S.O.E. be 
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	Identify the slope and y intercept.  Predict how each pair of lines will look when graphed.  
  y = 2x + 5


  Y = -1/2x – 2 


	Identify the slope and y intercept.  Predict how each pair of lines will look when graphed.  
Y = 3x + 15


 -3x + y = 15



	Identify the slope and y intercept.  Predict how each pair of lines will look when graphed.  
  y = x + 5


  Y = -1/2x – 2 


	Identify the slope and y intercept.  Predict how each pair of lines will look when graphed.  
Y = 3x + 15


Y = 2x + 14


	Identify the slope and y intercept.  Predict how each pair of lines will look when graphed.  
Y = 3x + 5

 y = 3x - 7

	Identify the slope and y intercept.  Predict how each pair of lines will look when graphed.  
Y = 3x + 15


 -3x + y = 15




Is each ordered pair a solution of the system of linear equations? 

	Ordered Pair
	Work

y  = x

Y = -x + 2
	Solution



	(1,1)
	
	

	(-1, -1)
	
	

	(0,0)
	
	


	Ordered Pair
	Work

y = 3x – 6

-3x + y = -6
	Solution



	(1,-5)
	
	

	(-1, -1)
	
	

	(0, 0)
	
	


	Ordered Pair
	Work

3x + y = 10

Y =-3x + 4
	Solution



	(1,-5)
	
	

	(-1, -1)
	
	

	(0, 0)
	
	


	Ordered Pair
	Work

Y = x + 4
Y = 3x
	Solution



	(1,-5)
	
	

	(0, -1)
	
	

	(2, 6)
	
	


1. How do you know if the S.O.E. has one solution? 
2. How do you know if the S.O.E. has no solution?

3. How do you know if the S.O.E. has infinitely many solutions?

